e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




—
sy L and

AUDI

100

|
AU-12109 AU-12110
= Tie Rod End Tie Rod End =
Front Right Front Left
M14x1,5Rht M14x1,5Rht
443419812C 443419811C
| |
. AU-12111 AU-16201
b7 Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Right Outer ﬁ
M16x1,5Rht Front Right Lower °°
ManualSteering D=@18mm
443419812D
437407156A
| |
AU-16202 AU-16207
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
H Assembly Assembly ”
“ Front Left Lower Front Right Lower °°
ManualSteering D=@18mm PowerSteering
437407155A 437407156
| |
AU-16208 AU-12112 .
Suspension Control Arm and Ball Joint Tie Rod End 5=
Assembly
H Front Left Outer
- FrontLeft  M16x1,5Rnt
PowerSteering
443419811D
437407155
| |
AU-2020 AU-2019
Control Arm Bushing Control Arm Bushing
Center Rear
431407201C 431407183A
AU-20311
Control Arm Bushing
Center
431407181D
1991-1994
AU-2021 AU-2022
Control Arm Bushing Control Arm Bushing
Rear Center
4A0407183D 4A0407181A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4 info@parsrot.com



A
&’Lana’ AUDI

100 1991-1994

AU-16212 AU-14210

Suspension Control Arm and Ball Joint Stabilizer Link

|
Assembly
Rear
Front Left Lower L=122 5mm
|

4A0407151 4A0505389

AU-12113 AU-12114
Tie Rod End Tie Rod End 5=

Front Right Front Left
M18x1,5Rht M18x1,5Rht

4A0419812A 4A0419811A

AU-16211

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
4A0407152

AU-12100 AU-11102
Tie Rod End Ball Joint

Front Front
M14x1,5Rht D=@15mm

811419812 823407365C

AU-11103 AU-16120

Ball Joint Suspension Control Arm and Ball Joint

Assembly
Front Lower

ManuelSteering D=@17mm
823407365E 3074071551C

Front

AU-16120N

Suspension Control Arm
Front

893407147G

AU-12101 AU-11104
Tie Rod End Ball Joint

Front Front Right Lower
M14x1,5Rht D=@17mm

811419812B 8554073668

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 5 info@parsrot.com



—
sy L and

AUDI

AU-16125

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Ball Joint D=&17mm

893407148C

AU-16126

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Ball Joint D=@17mm

893407147C

AU-16125N

Suspension Control Arm

Front Right Lower

AU-16126N

Suspension Control Arm

Front Left Lower

Firr

80

HHS

1987-1991

893407148C 893407147C
AU-11105 AU-14150
Ball Joint Stabilizer Link
Front Left Lower Front
D=@17mm L=272mm
855407365B 8A0407465C
AU-11106 AU-11107
Ball Joint Ball Joint

Front Right Lower
PowerSteering D=&19mm

Front Left Lower
PowerSteering D=&19mm

1=

893407366F 893407365F
AU-11301 AU-11302
Ball Joint Ball Joint

Front Right Lower
ManuelSteering D=@J19mm

Front Left Lower
Manuelsteering D=&19mm

qdidnd

893407366A 893407365A
AU-11303 AU-11304
Ball Joint Ball Joint
Front Right Front Left Lower
Only:2.2-2.3cc D=@17mm Only:2.2-2.3cc D=@17mm
855407366 855407365
AU-16127 AU-16128
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
Ball Joint D=@19mm

893407148E

Front Left Lower
Ball Joint D=@19mm

893407147E

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

6

—_ *



—
sy L and

AUDI

1987-1991

AU-16127N

Suspension Control Arm

Front Right Lower

AU-16128N

Suspension Control Arm

Front Left Lower

A

893407148E 893407147E
AU-12101
Tie Rod End
Front
M14x1,5Rht
811419812B
1992-1994
AU-12101 AU-11401
Tie Rod End Ball Joint
Front Front Left Lower
M14x1,5Rht D=@19mm
811419812B 8A0407365
AU-11402 AU-16425
Ball Joint Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

.|
.|
D=319mm Front Right Lower
8A0407366 895407148A
.|
AU-16426 AU-16425N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
895407148A
895407147A
.|
AU-16426N AU-14407
Suspension Control Arm Stabilizer Link
Front Left Lower Rear Right . ‘
895407147  L-7227.5mm
8D0505466
.|
AU-14408
Stabilizer Link
Rear Left
L=227,5mm
8D0505465

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



A
&’Lana’ AUDI

80-90 1974-1981

AU-209

Control Arm Bushing

( @ Front Inner

811407181A

80-90 1981-1988

AU-2010 AU-20321

Control Arm Bushing Control Arm Bushing
Inner Rear

8A0407181 811511247

1980-1986

‘ )

AU-12101 AU-16125

Tie Rod End Suspension Control Arm and Ball Joint

Assembly
Front

M14x1,5Rht Front Right Lower
Ball Joint D=@17mm

893407148C

AU-11104 AU-14150

Ball Joint Stabilizer Link

811419812B

Front Right Lower Front
D=@17mm L=272mm

8554073668 8A0407465C

AU-11105 AU-16126N

Ball Joint Suspension Control Arm
Front Left Lower Front Left Lower
D=G17mm  g93407147C
855407365B

AU-16125N AU-16126

Suspension Control Arm Suspension Control Arm and Ball Joint
Assembly
Front Right Lower
Front Left Lower

893407148C gy Joint D=@17mm
893407147C
1987-1991
| |
AU-16128
Suspension Control Arm and Ball Joint
Assembly

* Name of vehicles, models, IogqgrgﬁtrE@&eﬁﬁﬂé?thers in this document are used for reference purposes only.

t.com Ball Joint D=319mm 8 info@parsrot.com

893407147E




—
sy L and

AUDI

1987-1991

AU-16127

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Ball Joint D=19mm

AU-11304
Ball Joint

Front Left Lower
Only:2.2-2.3cc D=@17mm

855407365
893407148E
AU-11303 AU-11302
Ball Joint Ball Joint
Front Right Front Left Lower
Only:2.2-2.3cc D=@17mm Manuelsteering D=&19mm
855407366 893407365A
AU-11301 AU-16128N
Ball Joint Suspension Control Arm

Front Right Lower
ManuelSteering D=@19mm

Front Left Lower

yJidld

1992-1994

893407147E
893407366A
AU-16127N AU-12101
Suspension Control Arm Tie Rod End
Front Right Lower Front
893407148 M14x1,5Rnt
811419812B
AU-12101 AU-11401
Tie Rod End Ball Joint
Front Front Left Lower
M14x1,5Rht D=@19mm
811419812B 8A0407365
AU-16425 AU-11402
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Right Lower
Front Right Lower D=@19mm
895407148A 8A0407366
AU-14407 AU-16426N
Stabilizer Link Suspension Control Arm
Rear Right Front Left Lower
L=227.5mm " 895407147A
8D0505466

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Aldl¢

parsrot.com

info@parsrot.com



AUDI

1992-1994

AU-16425N

Suspension Control Arm

Front Right Lower

AU-16426

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

A

895407148A
895407147A
AU-14408
Stabilizer Link
Rear Left
L=227,5mm
8D0505465
8Xx1 2010 after
AU-19485 AU-19486
Lateral Arm Lateral Arm
Rear Right Upper Rear Left Upper
5Q0505224D 5Q0505223D
AU-19487 AU-13863
Lateral Arm Axial Joint
Rear Lower Front
5Q0505311C (8XA,8XF,8XK) L=312mm/M14x1.5 ’
6C0423810C
VW-13923 AU-23501923
Axial Joint Steering Tie Rod Assembly
Front Front Right
M14x1,5-L=313mm 6R0423804B
820419810C
AU-23502923 AU-12501
Steering Tie Rod Assembly Tie Rod End
. Front Left Front Right
y K 6R04238038  M14x1.5Rht
6Q0419812
AU-12502 SK-11424
TieRodEnd  Ball Joint
W Front Left Front Right Lower
@__.‘ M14x15Rht  soooase
g ' 6Q0419811

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 10 info@parsrot.com



Rot sy

mw Land AUDI
8X1 2010 after
|
SK-11425 AU-14856
Ball Joint Stabilizer Link X
Front Left Lower Front
6R0407365  --270mm
6Q0411315N
|
VW-16927 VW-16928
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
6R0407152F 6R0407151F
|
AU-2012
— Control Arm Bushing
Front Right Lower Outer
1J0407181
2000-2005
|
SK-12402 AU-13853
Tie Rod End Axial Joint
Front Left Outer Front / g
M14x1,5Rht PowerSteering P
6Q0423811D 820423804F
|
AU-23401853 AU-23402853
Steering Tie Rod Assembly Steering Tie Rod Assembly
| i .
- g Front Right Front Left P ———
Powersteering Powersteering
820423804F 820423803F
| |
SK-12401 AU-14527
' Tie Rod End Stabilizer Link
Front Right Outer Front
M14x1,5Rht L=58mm
6Q0423812D 820411315D
| |
VW-13923
Axial Joint
Front
M14x1,5-L=313mm
820419810C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

11

info@parsrot.com



Rot sy

mw Land AUDI
A3 8L1 1996-2003
|
AU-12501 AU-12502
TieRodEnd  Tie Rod End
- Front Right Front Left -
M14x1,5Rht M14x1,5Rht
- 6Q0419812 6Q0419811 o
] |
AU-19498 VW-19228
Lateral Arm Lateral Arm
_ﬁﬁﬁiﬁ Rear Rear Lower ,
1J0505323H 1K0505311AB
] |
AU-13503 AU-13543
Axial Joint Axial Joint
e p——f{ ]2 Front Inner Front —_——Ts
Ch.8L-W-050-423-> M14x1,5-L=320mm ﬁq&qsﬁhtvli’;%%%é?nz
1J0422807A 1J0422821A
| |
AU-23506 AU-23507
Steering Tie Rod Assembly Steering Tie Rod Assembly
o Front Right Front Left fe o)
Ch.8L.W-050-423-> Ch.8L.W-050-423->
1H0422804D 1H0422803D
| |
AU-23547 AU-23548
Steering Tie Rod Assembly Steering Tie Rod Assembly
.—4 Front Right Front Left H
Ch.No:->8L-W-050-422 Ch.No:->8L-W-050-422
1j0422804C 1J0422803C
| |
> AU-12508 AU-12509 -
: TieRod End  Tie Rod End £
Front Right Outer Front Left Outer
RhtCh.>>8L-W-050-422 M14x1,5 RhtCh.>>8L-W-050-422 M14x1,5
1J0422812L 1J0422811L #»_.m_(,?;,,,
AU-11495 AU-11504
Ball Joint Ball Joint

ol

Front Lower

8N0407365C

Front Right Lower
1J0407366C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

12

info@parsrot.com



—
sy L and

AUDI
8L1 1996-2003
|
AU-11504S AU-11505 (-
Ball Joint Ball Joint
Front Right Lower Front Left Lower
Kit  4J04073658
1J0407366C
AU-11505S AU-16525
Ball Joint Suspension Control Arm and Ball Joint

Front Left Lower

Assembly

¥ )i

Kit Front Right Lower
1Jo407366C 1404071518
AU-16526 AU-16525N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front
Front Left Lower
1J0407151C
1J0407151A
AU-16532 AU-18151
Suspension Control Arm and Ball Joint Suspension Control Arm Repair Kit
Assembly
Front
FrontUpper  A-504K/A-505K-V-532-SB12/SB155
4D0407505F
VW-18500 AU-14499
Suspension Control Arm Repair Kit Stabilizer Link
Front ve Rear Front Left
4Motion L=336mm
1J0411315D
AU-14500 AU-14586
Stabilizer Link Stabilizer Link
Front Right Rear
4Motion L=336mm L=175mm
1J0411316D 1J0505466B
VW-14531 VW-14532
Stabilizer Link Stabilizer Link
Front Front
Plastic L=105,5mm Metal L=105mm
1J0411315C 1J0422315G

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

1]

parsrot.com

info@parsrot.com



Rot sy

= [and AUDI
A3 8L1 1996-2003
|
AU-2012 AU-20328
~~ Control Arm Bushing Control Arm Bushing
! Front Right Lower Outer Front Right Lower Inner /
- 1J0407181 4A0399413A /
8P1 2003-2012
|
AU-20487 AU-20488
Control Arm Bushing Control Arm Bushing
Center Right
5Q0407182 1K0199232H
AU-20489 AU-18552
Control Arm Bushing Suspension Control Arm Repair Kit
Left Rear
1K0199231H SE-108-SE-109/A-5582AD/V-5582AD
VW-14557 VW-14558

Stabilizer Link

Stabilizer Link

Front Rear
L=335mm L=95,5mm
1K0411315J 1K0505465K
VW-20558K SE-19109
% Suspension Stabilizer Bar Link Kit Lateral Arm
t,__.’ Rear Rear Left Lower
— é:/ L=955mm  L=298mm
1K0505465KS1 1K0501529F
SK-19457 AU-19558
Lateral Arm Lateral Arm
\ Rear Lower Rear Upper
L=298mm  1K0505323N
1K0501529J
— VW-19224 VW-19582
Lateral Arm Lateral Arm
ﬂ Rear Right Front Rear Right Front

1T0505224F

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

1K0505224K

20117

parsrot.com 14

info@parsrot.com



Rot sy

mw Land AUDI
8P1 2003-2012
|
VW-19587 SE-19108
Lateral Arm Lateral Arm
Rear Upper  Rear Right Lower & === O
5Q0505323D  L--298mm
1K0501530C
|
VW-19583 VW-13553
Lateral Arm Axial Joint
Rear Left Front Front Inner e
1K0505223K M16x1,5-L=310mm
1K0423810A
|
VW-12551 VW-19225
Tie Rod End Lateral Arm
Front Right Rear Left Front H
M16x1.5Rht  110505203F
1K0423812K
VW-12552 VW-11555 -
TieRod End  Ball Joint o ..
Front Left Front Right Lower \’ Qt
A ¢
M16x1.5Rht  1K0407366E p
1K0423811K iy
VW-11556 VW-16559
Ball Joint Suspension Control Arm and Ball Joint

Front Left Lower

Assembly
Front Right Lower

1K0407365E Only:Petrol
1K0407152Q
VW-16560 VW-16561
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
Only:Petrol Only:Diesel
1K0407151Q 1K0407152AC
|
VW-16562 VW-16559N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
A Front Right Lower
> Front Left Lower Only:Petrol
Only:Diesel
1K0407152Q
1K0407151AC

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

AUDI

A3 8P1

2003-2012

VW-16560N

Suspension Control Arm

Front Left Lower

VW-16562N

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Lower

Only:Petrol Only:Diesel
1K0407151Q 1K0407151M
VW-16561N AU-18152

Suspension Control Arm Repair Kit

Front

Only:Diesel X-SSSN-556—V-557-SB487/SB488/SB48
1K0407152M
A3 8v1 2012 after
p VW-11556 VW-11555 .
M :?; Ball Joint  Ball Joint ;\: o
"J‘ v Front Left Lower Front Right Lower N ‘Y"
: " 1K0407365E 1K0407366E * ;
VW-12552 VW-12551
- -
o Tie Rod End Tie Rod End \
b Front Left Front Right -
' M16x1,5Rht M16x1,5Rht
1K0423811K 1K0423812K
| |
VW-13553 VW-19587
Axial Joint Lateral Arm
e Front Inner Rear Upper
M16x1,5-L=310mm 5Q0505323D
1K0423810A
AU-19487 AU-19486
Lateral Arm Lateral Arm
Rear Lower Rear Left Upper
5Q0505311C 5Q0505223D
AU-19485 VW-19586
Lateral Arm Lateral Arm

Rear Right Upper
5Q0505224D

Rear Lower Front
5Q0501529C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land AUDI
8Vv1 2012 after
AU-16488 AU-16489
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Assembly Assembly
Front Right Lower Front Left Lower
5Q0407152J 5Q0407151J
]
VW-14580 VW-16588N

Stabilizer Link

Suspension Control Arm

Rear Front Right Lower
L=70mm  500407154E
5Q0505465A
VW-16589N SK-14700

Suspension Control Arm

Stabilizer Link

‘/‘ A ‘)“

Front Left Lower Front
5Q0407153  L~335mm
500411315B
AU-20487
Control Arm Bushing
Center
5Q0407182

8D2, 8ES5, BS

1994-2001

AU-20569 AU-12511

Control Arm Bushing Tie Rod End
Front Front
4D0407183Q ﬁqiﬁ%ﬂ?w 92->8D-W-152089

4D0419811B

AU-16514 AU-16515

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Upper Rear

Front Left Upper Rear

4D0407510J 4D0407509J
AU-16516 AU-23513
Suspension Control Arm and Ball Joint Steering Tie Rod Assembly
Assembly
Front
Front Right Upper Front
4D0419801C

8D0407506H

1

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 17 info@parsrot.com



Rot sy

mw Land AUDI
A4 8D2, 8E5, B5 1994-2001
|
AU-19534 AU-13512
Lateral Arm Axial Joint
H Rear  Front ='
8D0501530 M14x1.5Rht-L=119,5mm
4D0422821
] |
AU-16517 AU-16518
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly —
s o ! l Front Left Upper Front Front Right Lower Rear ﬁﬁ
8D0407505H 4D0407694N
] |
AU-16519 AU-16520
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
== Assembly Assembly
@ ©
Front Left Lower Front Lower Front '_
4D0407693N  D=920.6mm
4D0407151H
| |
; E AU-18555 AU-14510
e ——ge—b Suspension Control Arm Repair Kit Stabilizer Link
> e 4 Front Front
; ;‘:"‘akﬁi . ‘e Year->2000A-511/51 14&5%?@58]&8}15758 L=86mm -
' 4D0411317K = -
8d0498998S1
AU-14528 AU-14529
Stabilizer Link Stabilizer Link
Front Right Front Left
WithBoltsAndNuts L=90mm WithBoltsAndNuts L=90mm
8D0411318D 8D0411317D
AU-18153  AU-14530
Suspension Control Arm Repair Kit Stabilizer Link
Front Front
A-511 .A-514//>{_551 159&:_55126(;&:_5512787%:?51284 WithBoltsAndNuts L=90mm
4D0411317K
AU-14408 AU-14407
Stabilizer Link Stabilizer Link
Rear Left Rear Right
L=227,5mm L=227,5mm
8D0505465 8D0505466

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

18

info@parsrot.com



Rot sy

== Land AUDI
A4 8D2, 8E5, B5 1994-2001
AU-2018 AU-2014
g, Suspension Stabilizer Bar Link Bushing Control Arm Bushing
Front Upper
8D0407318D 4D0407515C
AU-2015 AU-2016
Control Arm Bushing Control Arm Bushing
Front Lower Center Rear Lower
4D0407181H 8E0407182A
AU-20646
N Control Arm Bushing
' ' Rear
8D0501530

8E2, 8ES5, B6

2001-2004

AU-2016

Control Arm Bushing

AU-2017

Control Arm Bushing

Rear Lower Lower Center
8E0407182A 4D0407183P
AU-2014 AU-19624
Control Arm Bushing Lateral Arm

Upper Rear Right Upper Rear
4D0407515C 3R0505324
AU-19625 AU-23513A
Lateral Arm Steering Tie Rod Assembly
Rear Left Upper Rear Front
3R0505323 8E0419801B
AU-12511A AU-16514A
Tie Rod End Suspension Control Arm and Ball Joint

Front Outer
M14x1,5Rht

8E0419811C

Assembly

Front Right Upper Rear
Ch.8D-W-006471>Ch.8D-X-200001>

4D0407510G

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 19 info@parsrot.com



—
sy L and

AUDI

A4

8E2, 8E5, B6

2001-2004

AU-16515A AU-16516A
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Upper Rear Front Right Upper Front
Ch.8D-W-006471>Ch.8D-X-200001> Ch.8D-W-006471>8D-X-200001>
4D0407509G 8D0407506B
AU-16517A AU-16520A
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Upper Front
Ch.8D-W-006471>8D-X-200001>

Front Lower Front
D=16,30mm1/6

(]

|
|
8E0407505A 8E0407151M
|
AU-18577 AU-14538
Suspension Control Arm Repair Kit Stabilizer Link
= —PE— =4 Front Front Right n
R ASTINRSIRBIBNS3IRRURTE  se0411318 - el
s e 8E0498998
| |
AU-14539 AU-14540
Stabilizer Link Stabilizer Link
n Front Left Rear ‘::’
- - 8E0411317  L=90mm
8E0505465F
| |
AU-16519 AU-16518
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
= Assembly Assembly —
ﬂg Front Left Lower Front Right Lower Rear ﬂﬁ
4D0407693N 4D0407694N
| |
AU-13512 AU-20471
Axial Joint Control Arm Bushing
ﬂ Front Lower Center
M14x1.5Rht-L=119,5mm 8E0407151M
4D0422821
A4 8EC, 8ED 2004-2008
| |
AU-13512 AU-16520
Axial Joint Suspension Control Arm and Ball Joint
Assembly
ﬂ Front @ e
M14x1.5Rht-L=119,5mm FrontLower Front T
D=@20,6mm
4D0422821
4D0407151H

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

A4

/

AUDI
8EC, 8ED 2004-2008
|
AU-19535 AU-12611
Lateral Arm Tie Rod End
Rear Front b_b—m
L=337mm  M14x1,5Rht Lll &¢
8E0501529G 4F0419811D
|
AU-16628 AU-16629
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Rear ‘/’w

Front Right Lower Rear
(Chassis from 8H7000001>)

(Chassis from 8H7000001>)

Rear Left Upper Rear
3R0505323

8E0407694T 8E0407693T
AU-14539 AU-14538
Stabilizer Link Stabilizer Link
n Front Left Front Right
- = 8E0411317 8E0411318
|
AU-16515A AU-16514A
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
: Front Left Upper Rear Front Right Upper Rear
Ch.8D-W-006471>Ch.8D-X-200001> Ch.8D-W-006471>Ch.8D-X-200001>
4D0407509G 4D0407510G
AU-19625 AU-19624
Lateral Arm Lateral Arm

Rear Right Upper Rear
3R0505324

AU-2014

Control Arm Bushing
Upper
4D0407515C

AU-2015

Control Arm Bushing
Front Lower Center

4D0407181H

AU-2016

Control Arm Bushing
Rear Lower

8E0407182A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

Front Left Outer
M16X1,5

Front Lower

8K0407689F
8K0422817B
AU-11674 AU-16580
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

Assembly
Front Right Lower Rear

mw Land AUDI
A4 8K2, 8K5 2007-2015
|
AU-19575 AU-19535
Lateral Arm Lateral Arm
) — 1 Rear Right Rear
e o~
8K0501530N 8E0501529G
|
AU-19589  AU-19576
Lateral Arm Lateral Arm
Rear Lower Front Rear Left g‘é;_ e
& ) 8:05215209L (<282 5mm - -
o 8K0501529N
| |
AU-13573 AU-23571573
Axial Joint Steering Tie Rod Assembly \
Front Front Right
M16X15-L=225mm  goaonoron N
8J0423810 ®
| |
AU-23572573 AU-12571
\ Steering Tie Rod Assembly ~ Tie Rod End
Front Left Front Right Outer P
N 8Ko4228178  M16X1.5
8K0422818B
| |
AU-12572 AU-11574
i Tie Rod End Ball Joint
|

Q\)

4G0407689C
8K0407694N
AU-16581 AU-16582
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower Rear
8K0407693N

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Front Right Upper Front
:09/2011->

8K0407506A

|

parsrot.com

info@parsrot.com



Rot sy

== Land
A4 8K2, 8K5
AU-16583 AU-16584
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

AUDI
2007-2015

o . Assembly Assembly /"
Y Front Left Upper Front Front Right Upper Rear * =7
09/2011->  :09/2011-> ol
8K0407505A 8K0407510A
]
AU-16585 AU-16606
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
e Assembly Assembly " 4
(0] Front Left Upper Rear Front Right Lower Rear @ e
:09/2011-> Ch:8K,8T e
8K0407509A 8K0407694T
]
AU-16607 AU-16638
! Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly d
Front Left Lower Rear Front Right Lower e
Ch:8K8T  8k0407694AD
8K0407693T
AU-16639 AU-16578
e Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly Eront Right L Eront -
ront Right Lower Fron g ;
Front Left Lower ® e
“ 8K0407152B
8K0407693AD
AU-16579 AU-16608
Suspension Control Arm Suspension Control Arm
o o Front Left Lower Front Front Right Lower Front
8K0407151B 8K0407152G
|
AU-16609 AU-18600
Suspension Control Arm Suspension Control Arm Repair Kit
S &q_ L ® Front Left Lower Front Front
8KO0407151G é/-g_]é)_/g;é-sm/sso-sm /582-583/584-58
|
AU-14626 AU-14570
" Stabilizer Link Stabilizer Link —
N @ Front Front
’@ L=170mm  L=170mm
4G0411317C 8K0411317E

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land AUDI
A4 8K2, 8K5 2007-2015
|
o AU-14587 AU-20430
Stabilizer Link Control Arm Bushing e oy
Front Rear / .,
8K0411317B 8K0407152B “:_
AU-20655 AU-20656

Control Arm Bushing

Lower Center

Control Arm Bushing

Lower Center

4E0407181B 4E0407183B
AU-20657 AU-888
Control Arm Bushing Suspension Control Arm Repair Kit
Upper Front
8D0407515B )
A4 2015 after
|
AU-19130 AU-19131
Lateral Arm Lateral Arm
Rear Right Upper Rear Left Upper = /_ \;\“-
& y | -
8W0505324F 8W0505323F o .ﬁr_—‘:f@\
|
AU-14626 AU-19736
- Stabilizer Link Lateral Arm
¢ Front Rear Right Lower Rear M
ﬁ T -—
(o, L=170mm 4M0505292D
4G0411317C
| |
AU-19737 AU-13733
Lateral Arm Axial Joint
Rear Left Lower Rear Front
4M0505291D 8W0423810A
| |
AU-12731 AU-12732
Tie Rod End Tie Rod End
. ‘ FrontRight  Front Left
- e 8W0423812 8W0423811

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land AUDI
A4 2015 after
AU-16132 AU-16133
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
/ Front Right Upper Rear Front Left Upper Rear & /@
@ 8W0407510B 8W0407509B
AU-16134 AU-16135
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
» - Assembly Assembly &
Front Right Upper Front Front Left Upper Front = »
8W0407506C 8W0407505C
AU-16138 AU-16139
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
() e 1 Front Right Lower Rear Front Left Lower Rear
8W0407694B 8W0407693B
AU-16136 AU-16137
Suspension Control Arm Suspension Control Arm
e - Front Right Lower Front Front Left Lower Front Sy
) 8W0407152A 8W0407151A
AU-201107
Control Arm Bushing
Front Upper
8W0407510B
A5 8T3 2007-2015
AU-14626 AU-14587 0
- Stabilizer Link Stabilizer Link
. @ Front Front
() L=170mm 4104113178
4G0411317C
— AU-14570  AU-18600
— Stabilizer Link Suspension Control Arm Repair Kit
Front Front
L=170mm é‘é?é”é?é -572/580-581/582-583/584-58
8K0411317E

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 25 info@parsrot.com



Rot sy

= Land AUDI
A5 8T3 2007-2015
|
AU-16609 AU-16579
Suspension Control Arm Suspension Control Arm
¥ &__‘ ) Front Left Lower Front Front Left Lower Front = Sy o
8K0407151G 8K0407151B
]
AU-16578 AU-16639
Suspension Control Arm Suspension Control Arm and Ball Joint | @
« Eront Right L Front Assembly
o g ront Right Lower Fron
© e Front Left Lower 4
8K04071528 »
8K0407693AD
AU-16638 AU-16607
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint ;
4 Assembly Assembly
0 Front Right Lower Front Left Lower Rear
8K0407694AD  CM:8KET h
8K0407693T
|
AU-16606 AU-16585
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
,. 4 Assembly Assembly %
@ - Front Right Lower Rear Front Left Upper Rear (o]
e Ch:8K,8T :09/2011->
8K0407694T 8K0407509A
|
AU-16584 AU-16583
y Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
7! Assembly Assembly - .
& - 4 Front Right Upper Rear Front Left Upper Front J
= :09/2011->  :09/2011->
8K0407510A 8K0407505A
AU-16582 AU-16581
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint *
- Assembly Assembly
¥ Front Right Upper Front Front Left Lower Rear ﬁ\
. R - )
09722011-> g1K0407693N
8K0407506A
AU-16580 AU-11674
‘ Suspension Control Arm and Ball Joint Ball Joint
Assembly

Front Right Lower Rear
8K0407694N

Front Lower

4G0407689C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 26 info@parsrot.com



—
sy L and

'\:ﬂ};‘

AUDI
8T3 2007-2015
|
AU-11574 AU-12572
Ball Joint Tie Rod End 1
Front Lower Front Left Outer
8ko407689F  M16X1.5
8K0422817B
|
AU-12571 AU-23572573
Tie Rod End Steering Tie Rod Assembly \
Front Right Outer Front Left
M16X1.5  gko4228178 N
8K0422818B ®
|
AU-23571573 AU-13573
Steering Tie Rod Assembly Axial Joint :
Front Right Front
8K0422818B M16X1,5-L=225mm
8J0423810
AU-19576 AU-19589
Lateral Arm Lateral Arm
Rear Left Rear Lower Front
L=282,5mm  gk0501529L
8K0501529N
AU-19575 AU-20430
Lateral Arm Control Arm Bushing
Rear Right Rear
L=282,5mm  gk04071528
8K0501530N
AU-888 AU-20657
Suspension Control Arm Repair Kit Control Arm Bushing
Front Upper
8D0407515B
AU-20656 AU-20655

Control Arm Bushing
Lower Center

4E0407183B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Control Arm Bushing
Lower Center

4E0407181B

parsrot.com

27

info@parsrot.com



Rot sy

Stabilizer Link

Rear Left Upper Rear Right Upper
8W0505323F 8W0505324F
|
AU-14626 AU-16132

Suspension Control Arm and Ball Joint

8W0407694B

8W0407505C

== Land AUDI
I —————————
A5 F53-F57 2016 after
AU-19131 AU-19130
Lateral Arm Lateral Arm

Assembly
Front
L=170mm Front Right Upper Rear
4G0411317C 8W0407510B 0
| |
AU-12732 AU-12731
Tie Rod End Tie Rod End
Front Left Front Right ‘
— Sy
8W0423811 8W0423812 A
| |
AU-13733 AU-19737
Axial Joint Lateral Arm
Front Rear Left Lower Rear
8W0423810A 4M0505291D
| |
AU-19736 AU-16137
Lateral Arm Suspension Control Arm
H Rear Right Lower Rear Front Left Lower Front e
4M0505292D 8W0407151A
|
AU-16136 AU-16139
Suspension Control Arm Suspension Control Arm and Ball Joint
Assembly N
- Front Right Lower Front A
' & Front Left Lower Rear &
8W0407152A
8W0407693B @
|
AU-16138 AU-16135
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
o Front Right Lower Rear Front Left Upper Front @

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 28 info@parsrot.com



Rot sy

== Land AUDI
A5 F53-F57 2016 after
|
AU-16134 AU-16133
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
» 2 & 4
Front Right Upper Front Front Left Upper Rear ' @
8W0407506C 8W0407509B
] |
AU-201107
A~ Control Arm Bushing
! Front Upper
8W0407510B
4A, 4C 1994-1997
AU-12111 AU-16211
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Right Outer
M16x1,5Rht Front Right Lower
4434198120  4A0407152
AU-14210 AU-16212

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

Rear
L=122,5mm Front Left Lower
4A0505389 4A0407151
AU-12112 AU-2018
Tie Rod End Suspension Stabilizer Bar Link Bushing
Front Left Outer Front
M16x1.5Rht  gpo407318D
443419811D
AU-2020 AU-2021
Control Arm Bushing Control Arm Bushing
Center Rear
431407201C 4A0407183D
4B, C5
AU-2016 AU-2017
Control Arm Bushing Control Arm Bushing
Rear Lower Lower Center
8E0407182A 4D0407183P

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land AUDI
A6 4B, C5 1997-2005
AU-2015 AU-2014
~~ Control Arm Bushing Control Arm Bushing
Front Lower Center Upper
4D0407181H 4D0407515C
AU-16520C AU-18566
Suspension Control Arm and Ball Joint Suspension Control Arm Repair Kit a9
. Asse;nbl); Front &—_ w ._*
ront Lower Fron A-511A/A-514-A-515A/A-516-A-517 A/A- i g
T SRR AT S 53, ‘EWE By
8B0498998S1
AU-18533 AU-16520A

Suspension Control Arm Repair Kit

Suspension Control Arm and Ball Joint
Assembly

Front
Front Lower Front
D=16,30mm1/6
8E0407151M
|
AU-16517A AU-23513A
Suspension Control Arm and Ball Joint Steering Tie Rod Assembly
Assembly
E_,% Front
- Front Left Upper Front
Ch.8D-W-006471>8D-X-200001> ~ SE04198018
8E0407505A
AU-14530 AU-18153
Stabilizer Link Suspension Control Arm Repair Kit
Front Front
WithBoltsAndNuts L=90mm ﬁ:g;lé:ﬁ:ggé{Azg}glﬁ:gg/A-m7.A-518/
4D0411317K
AU-14529 AU-16514A
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Front Left _
WithBoltsAndNuts L=90mm  Front Right Upper Rear
Ch.8D-W-006471>Ch.8D-X-200001>
8D0411317D
4D0407510G
AU-12511A AU-16515A
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Outer
M14x1,5Rht Front Left Upper Rear
Ch.8D-W-006471>Ch.8D-X-200001>
8E0419811C

4D0407509G

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land AUDI
A6 4B, C5 1997-2005
|
AU-16516A AU-19589 ;
Suspension Control Arm and Ball Joint Lateral Arm
Assembly
%a Rear Lower Front
I Front Right Upper Front
Ch.8D-W-006471>8D-X-200001>  SK0501529L
8D0407506B
]
AU-16519 AU-16518
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
ey Assembly Assembly
ﬂa Front Left Lower Front Right Lower Rear
4D0407693N 4D0407694N
]
AU-16517 AU-14528
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
H Front Right
Front Left Upper Front  \wjthBoltsAndNuts L=90mm
|
AU-14510 AU-18555
Stabilizer Link Suspension Control Arm Repair Kit gt
Front Front | — w ——
= NS L=86mm ¥§%15?g§8/%2%}gé 14A-515A/516-517/5 &6___'__';"(;9::‘__ i:
ADOATIITK 44049899851 s 2
| |
AU-13512 AU-23513
Axial Joint Steering Tie Rod Assembly
M14x1.5Rht-L=119,5mm 4D0419801C
4D0422821
| |
AU-16516 AU-16515
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly -
% Front Right Upper Front Front Left Upper Rear . e
8D0407506H 4D0407509J
| |
AU-16514 AU-12511
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
w Front

Front Right Upper Rear
4D0407510J

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

ﬁq a;?%-lj\(x12601 92->8D-W-152089

4D0419811B

parsrot.com

info@parsrot.com



Rot sy

mw Land AUDI
4B, C5 1997-2005
|
AU-20471 AU-20569 .
Control Arm Bushing Control Arm Bushing
Lower Center Front :
8E0407151M 4D0407183Q
4F2, C6 2005-2011
| |
AU-12611 AU-16615
Tie Rod End Suspension Control Arm and Ball Joint
tb—m Front Assembly
ron R
Léé M14x1,5Rht Front Left Upper Rear # - —/4
4F0419811D  4E04075098
| |
AU-19647 AU-13612
Lateral Arm Axial Joint
e ————— Rear Front %
4F0501529E M14x1,5Rht-L=139.5mm
4F0422821
|
AU-23611612 AU-16614
Steering Tie Rod Assembly Suspension Control Arm and Ball Joint
Front Assembly
ron ﬁ-\_i é
Front Right Upper Rear —
4F0419811Ckit 9 PP
4E0407510B
AU-16616 AU-16617
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Upper Front

Front Left Upper Front

4E0407506B 4E0407505B
AU-16618 AU-16619
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

L1]1]!

4F0407694C 4F0407693C
AU-16620 AU-18666
Suspension Control Arm and Ball Joint Suspension Control Arm Repair Kit
Assembly

Front Lower

4F0407151A

Front
ﬁ661181/,4éé51‘§‘}f<§662104/A_61 5/A-616/A-617/

8F0498998

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

AUDI

‘

4F2, C6

2005-2011

Control Arm Bushing

Lower Center

AU-14542 AU-14544
Stabilizer Link Stabilizer Link
Rear Front n
L=100mm L=110mm - -
4F0505465N 4E0411317E
AU-14546 AU-2014
Stabilizer Link Control Arm Bushing
Rear Upper
L=100mm  4po407515C
4F0505465P
AU-20655 =

Front Right Lower Inner

AU-20653 -
Control Arm Bushing Q
g

Control Arm Bushing

4E0407181B 4D0407183L

AU-20654 AU-20657
Control Arm Bushing Control Arm Bushing
Rear Lower Upper
4E0407182C 8D0407515B
4G2, C5 2011-2017
|

AU-20913 AU-20916

Control Arm Bushing

Front Right Upper Inner Lower
4H0407515 4H0407693E
AU-19688 AU-19689
Lateral Arm Lateral Arm
\ p Rear Right Upper Rear Left Upper
e’
8K0505324H 8K0505323H
AU-12631 AU-12632
Tie Rod End Tie Rod End
,L Front Right Front Left
& M16X1,5 M16X1,5
4G0423812A 4G0423811A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot s
|

Land AUDI
A6 4G2, C5 2011-2017
AU-13830 AU-16680
Axial Joint Suspension Control Arm and Ball Joint =
Front Assembly Q\ f%
_. ron \ .,
M16x1.5/L=236 Front Right Lower N o
]
AU-16681 AU-16682
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint !
4 == Assembly Assembly @\
) .
ey Front Left Lower Front Right Upper Front "‘\.4
4G0407693H 8K0407506M
]
AU-16683 AU-16684
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
4 Assembly Assembly
-G Front Left Upper Front Front Right Upper Rear =
8K0407505M 8K0407510M
| |
AU-16685 AU-16686
Suspension Control Arm and Ball Joint Suspension Control Arm
® ASSSMBY - ont Right Lower Front —
ront Right Lower Fron :
~ Front Left Upper Rear - ®%
8K0407152D
8K0407509M
| |
AU-16687 AU-14596
Suspension Control Arm Stabilizer Link
o [0} Front Left Lower Front Front
8k0407151D  -=170mm
8K0411317E
|
AU-14626 AU-19575
. Stabilizer Link Lateral Arm
. @ Front Rear Right — @
’@h L=170mm  L=282,5mm e e
4G0411317C 8K0501530N
AU-19589  AU-19576
Lateral Arm Lateral Arm
Rear Lower Front Rear Left @é i,
8K0501520L  -=282,5mm '
8K0501529N

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

AUDI
4G2, C5 2011-2017
|
AU-11674 AU-16608
Ball Joint Suspension Control Arm
Front Lower Front Right Lower Front @ X
4G0407689C 8K0407152G ?
|
AU-16609
Suspension Control Arm
Front Left Lower Front
8K0407151G
4 GA Sportback 2010-2017
|
AU-11574 AU-19589 10)
Ball Joint Lateral Arm

Front Lower

Rear Lower Front

8K0407689F 8K0501529L
|
AU-14626 AU-14596
Stabilizer Link Stabilizer Link
Front Front
L=170mm L=170mm
4G0411317C 8K0411317E
|
AU-16687 AU-16686
Suspension Control Arm Suspension Control Arm
Front Left Lower Front Front Right Lower Front ; : o9
8K0407151D 8K0407152D
|
AU-16685 AU-16684
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
@ =
Front Left Upper Rear Front Right Upper Rear
8K0407509M 8K0407510M
|
AU-16683 AU-16682
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint !
Assembly Assembly @\ -

Front Left Upper Front
8K0407505M

Front Right Upper Front
8K0407506M

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rof
= [and AUDI
A7 4 GA Sportback 2010-2017
AU-16681 AU-16680
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

Assembly
Front Right Lower

| g

1994-2002

4G0407693H 4G0407694H
|
AU-12632 AU-12631
Tie Rod End Tie Rod End
J Front Left Front Right
= = M16X1,5 M16X1,5
4G0423811A 4G0423812A
4D2, 4D8
AU-18533 AU-19523
Suspension Control Arm Repair Kit Lateral Arm
Front Rear
4D0501529E
|
AU-16520C AU-14531
g ) Suspension Control Arm and Ball Joint Stabilizer Link
2}\ Assembly R
ear
K‘/ Front Lower Front M10x1,5Rht-L=120mm
@J 4B3407151K 4p0505465D
|
AU-14536 AU-14537
Stabilizer Link Stabilizer Link
Rear Right Rear Left
L=61,5mm L=61,5mm
4E0505548L 4E0505547L
|
AU-16517A AU-16520A
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
_4 Assembly Assembly
E_ = Front Left Upper Front Front Lower Front
Ch.8D-W-006471>8D-X-200001> D=16,30mm1/6
8E0407505A 8E0407151M
|
AU-16516A AU-12511A
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
% ' Front Outer
I Front Right Upper Front M14x1,5Rht
Ch.8D-W-006471>8D-X-200001>
8E0419811C

8D0407506B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

36

info@parsrot.com



= Land AUDI
A8 4D2, 4D8 1994-2002
|
AU-16514A AU-23513A
Suspension Control Arm and Ball Joint Steering Tie Rod Assembly
Assembly
_ Front
Front Right Upper Rear Hﬂ‘
Ch.8D-W-006471>Ch.8D-X-200001> 04198018
4D0407510G
] |
AU-16514 AU-16515
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
B ' Assembly Assembly l -
Front Right Upper Rear Front Left Upper Rear
4D0407510J 4D0407509J
] |
AU-16516 AU-23513
Suspension Control Arm and Ball Joint Steering Tie Rod Assembly
Assembly
Front Right Upper Front
4D0419801C
8D0407506H
| |
AU-13512 AU-18555 ; i
Axial Joint Suspension Control Arm Repair Kit ‘5__.3..,.__5‘
ﬂ Front Front - e —4
M14x1.5Rht-L=119,5mm ¥§_qg15%)%)/é2%}gé 14A-515A/516-517/5 L ___':‘;9""9;:___ ‘e
4D0422821 54049899851 s 2
| |
AU-14510 AU-16517
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Front H
L=86mm Front Left Upper Front i
= = 4D0411317k ~ 8D0407505H
| |
AU-16518 AU-16519
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
= Assembly Assembly -=~\
Front Right Lower Rear Front Left Lower ﬁ\ﬂ
4D0407694N 4D0407693N
| |
AU-16532 AU-2014
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
e 4 Upper
= Front Upper
4D0407515C
4D0407505F

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= [and AUDI
A8 4D2, 4D8 1994-2002
AU-2017 AU-2016
— Control Arm Bushing Control Arm Bushing
Lower Center Rear Lower
4D0407183P 8E0407182A
AU-20213 AU-20471

Control Arm Bushing

Control Arm Bushing

Rear Lower Center
4D0407516C 8E0407151M
2002-2010
AU-2014 AU-201038
Control Arm Bushing Control Arm Bushing
Upper Rear Lower
4D0407515C 4E0501529G
|
AU-14537 AU-19817
Stabilizer Link Lateral Arm
Rear Left Rear Lower L j
L=61,5mm Aluminium ad
4E0505547L 4E0501529G
|
AU-14536 AU-13812
Stabilizer Link Axial Joint
Rear Right Front
L=61,5mm M16x1,5Rht-L=127mm
4E0505548L 4E0419821
AU-23811812 AU-12811
( Steering Tie Rod Assembly Tie Rod End
Front Front
\ 4E0419801D M16x1,5Rht
4E0419811D
AU-16818 AU-18810
Suspension Control Arm and Ball Joint Suspension Control Arm Repair Kit
W Assembly

Front Right Lower
4E0407694F

Front

ﬁ:gjl éﬁéﬁ‘&)ﬁ};@g‘l 2/A-61 6-A-617/A-818-

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 38 info@parsrot.com



Rot sy

= [and AUDI
A8 4E 2002-2010
AU-16819 AU-16820
Suspension Control Arm andfall JotiJTt iusper;)slion Control Arm and Ball Joint
S ssembly ssembly B
b-‘f @ Front Left Lower Front Lower Gﬂ;ﬂ

e ——9

4E0407693F 4E0407151L
AU-16615 AU-16614
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
. _:ﬂ Front Left Upper Rear Front Right Upper Rear
4E0407509B 4E0407510B
AU-16617 AU-16616
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
e I 4 Front Left Upper Front Front Right Upper Front
4E0407505B 4E0407506B
|
AU-14544 AU-20657
Stabilizer Link Control Arm Bushing
Front Upper
A - - —
- = L=110mm  gn04075158
4E0411317E
AU-20656 AU-20654

Control Arm Bushing

Control Arm Bushing

2010-2018

Lower Center Rear Lower
4E0407183B 4E0407182C
AU-20655
Control Arm Bushing
Lower Center
4E0407181B
4H
AU-20913 AU-13830
Control Arm Bushing Axial Joint
Front Right Upper Inner Front
4H0407515 M16x1.5/L=236
4G0423810A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

=

parsrot.com

39

info@parsrot.com



—
sy L and

AUDI

2010-2018

AU-14570 AU-13833
— Stabilizer Link Axial Joint
Front Front Inner
L=170mm M16x1.5/L=226
8K0411317E 4H0422810A
AU-12831 AU-12832
Tie Rod End Tie Rod End
4 Front Right Front Left
& M16X1,5  M16X15
4H0422818A 4H0422817A
- AU-11834  AU-16652
= Ball Joint Suspension Control Arm and Ball Joint

Front Lower

Assembly

Front Right Upper Front
4H0407689
4H0407506E
|
AU-16653 AU-16654
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
@ Assembly Assembly
) ‘ Front Left Upper Front Front Right Upper Rear
4H0407505E 4H0407510E
AU-16655 AU-16656
‘ Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
: Front Left Upper Rear Front Right Lower
@ 4H0407509E 4H0407694E
AU-16657 AU-16658
Suspension Control Arm and Ball Joint Suspension Control Arm
— ; Assembly
. Front Right Lower
e Front Left Lower
4H0407152B
4H0407693E
|
AU-16659 AU-14840
2\ Suspension Control Arm Stabilizer Link
Front Left Lower Front
4H0407151B 4H6411317A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

~

e e

parsrot.com

info@parsrot.com



Rot sy

= Land AUDI
4H 2010-2018
|

AU-19589

Lateral Arm

Rear Lower Front

8K0501529L
ALLROAD QUATTRO (4BH,C5) 2000-2005
AU-16436 AU-16437
L Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
/’ J—— Assembly Assembly .
p Front Right Lower Rear Front Left Lower Rear ‘?: o b
@ Aluminium  Aluminium
477407694D 427407693D
AU-16438 AU-16448
- Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint A
‘%\;{ Assembly Assembly v e
A _e{ Front Lower Front Front Lower Front 0 )
L fa'v.:’ Aluminium,Chassisno.to:4B-4-091000 Aluminium,Chassisno.from:4B-4-091001
4Z7407151C 427407151G
CABRIOLET 1991-2000

AU-16426N AU-16426

Suspension Control Arm Suspension Control Arm and Ball Joint

Assembly
Front Left Lower

895407147A

Front Left Lower
895407147A

AU-16425N AU-11402

Suspension Control Arm Ball Joint
Front Right Lower Front Right Lower

895407148A ~ D=9219mm
B8A0407366

AU-16425 AU-11401

Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Left Lower
Front Right Lower D=@19mm

895407148A 8A0407365

AU-12101 AU-2010
Tie Rod End Control Arm Bushing e
Front Inner @
M14x1,5Rht 8A0407181 \/
811419812B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 41 info@parsrot.com



Rof
= Land AUDI
COUPE 1982-1988
AU-2010 AU-12101
p \ Control Arm Bushing Tie Rod End
o Inner Front
\ @ / 8A04071:1 M$4x1,5Rht
811419812B
AU-11401 AU-16425
Ball Joint Suspension Control Arm and Ball Joint

Front Left Lower

Assembly

Front Right Lower
D=@19mm

D=@19mm Front Right Lower
8A0407365 895407148A
AU-11402 AU-16425N
Ball Joint Suspension Control Arm

Front Right Lower

895407148A
8A0407366
AU-16426 AU-16426N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Left Lower
Front Left Lower
895407147A
895407147A
COUPE
|
AU-16426N AU-14407
Suspension Control Arm Stabilizer Link
Front Left Lower Rear Right
895407147A  --227,5mm
8D0505466
|
AU-16426 AU-16425N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
895407 148A
895407147A
|
AU-11402 AU-11401
Ball Joint Ball Joint
Front Right Lower Front Left Lower
D=@19mm D=@19mm
8A0407366 8A0407365

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

AUDI

COUPE

1988-1996

AU-11107
Ball Joint

Front Left Lower
PowerSteering D=19mm

AU-11106
Ball Joint

Front Right Lower
PowerSteering D=&19mm

L

893407365F 893407366F
AU-14408 AU-12101
Stabilizer Link Tie Rod End
»_h. Rear Left Front
L=227,5mm M14x1,5Rht
8D0505465 811419812B

COUPE QUATTRO

1984-1987

Suspension Control Arm
Front Right Lower
893407148C

AU-11104 AU-14408
Ball Joint Stabilizer Link
Front Right Lower Rear Left
D=@17mm L=227,5mm
855407366B 8D0505465
AU-16125N AU-16126N

Suspension Control Arm
Front Left Lower

893407147C

>

AU-14407
Stabilizer Link

Rear Right
L=227,5mm

8D0505466

-
A

COUPE QUATTRO

1988-1995

AU-16426N

Suspension Control Arm

Front Left Lower

AU-16425N

Suspension Control Arm

Front Right Lower

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

895407147A 895407 148A
AU-16426 AU-11401
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Left Lower
Front Left Lower D=319mm
895407147A 8A0407365

D
e

parsrot.com

43

info@parsrot.com



Rot sy

== Land AUDI
COUPE QUATTRO 1988-1995
|
AU-11402 AU-16425
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front Right Lower
D=@19mm Front Right Lower
8A0407366 895407148A y
|
AU-12101
Tie Rod End
Front
M14x1,5Rht
811419812B
2011-2016
|
VW-19228 VW-12552
Lateral Arm Tie Rod End :
Rear Lower Front Left L1
1K0505311AB  M16x1,5Rnt &LF""—
1K0423811K
VW-11555 VW-11556 P
Ball Joint Ball Joint “ Y

Front Right Lower

Front Left Lower

1K0407366E 1K0407365E 'y
VW-19587 VW-12551
Lateral Arm Tie Rod End :
Rear Upper Front Right
5Q0505323p  M16x1.5Rnt
1K0423812K
AU-19556 AU-19557
Lateral Arm Lateral Arm

Rear Right Lower

Rear Left Lower

o
~

Rear Right Lower
3C0505224

3C0505224D 3C0505223D
AU-19716 AU-19717
Lateral Arm Lateral Arm

Rear Left Lower

3C0505223

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rof
mw Land AUDI
Q3 8u 2011-2016
VW-16549 VW-16550
e Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint ‘®
= Assembly Assembly o e
\5‘: N 3" Front Right Front Left a,/ l
3C0407151G 3C0407151H
VW-16549N VW-18540
Y Suspension Control Arm Suspension Control Arm Repair Kit
=AY Front Front
3C0407151E gé%%ﬁ-SSON-SM -V-552/V-5532AD/V-
VW-20558K VW-14558
Suspension Stabilizer Bar Link Kit Stabilizer Link
Rear Rear
L=95,5mm L=95,5mm
1K0505465KS1 1K0505465K
AU-20487 AU-20494

Control Arm Bushing

Control Arm Bushing

Center Front Left Inner
5Q0407182 3C0199231D
8R 2008-2016
| |
AU-20430 AU-19589 O)
Control Arm Bushing Lateral Arm

/ Rear Rear Lower Front
- y 8K0407152B  8K0501529L e
AU-13573 AU-23571573
/ Axial Joint Steering Tie Rod Assembly \
Front Front Right
M16X15-L=225MM g oaonaisn N
8J0423810 ®
AU-23572573 AU-11574
\ Steering Tie Rod Assembly Ball Joint
Front Left Front Lower
N 8K0422817B 8K0407689F

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

45

info@parsrot.com



Rot sy

== Land AUDI
Q5 S8R 2008-2016
|
AU-12571 AU-12572
Tie Rod End Tie Rod End 3
P Front Right Outer Front Left Outer
M16X1,5 M16X1,5
8K0422818B 8K0422817B
| |
AU-11674 AU-16609
Ball Joint Suspension Control Arm

aﬂ Front Lower Front Left Lower Front ﬁ_;;,_ L ®
.E‘ 4G0407689C 8K0407151G
] |
AU-16608 AU-16578
Suspension Control Arm Suspension Control Arm
o Front Right Lower Front Front Right Lower Front - g :
<« [ .
-~ ® il
& 8K0407152G 8K0407152B
| |
AU-16579 AU-16582
Suspension Control Arm Suspension Control Arm and Ball Joint
. Assembly P
E o Front Left Lower Front H
o Front Right Upper Front
8K0407151B -09/2011->
8K0407506A
|
AU-16583 AU-16584
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint y
- ' Assembly Assembly /"
Y Front Left Upper Front Front Right Upper Rear #’ =7
09/2011->  :09/2011-> gl
8K0407505A 8K0407510A
|
AU-16585 AU-16606
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
e Assembly Assembly " 4
(0] Front Left Upper Rear Front Right Lower Rear @ e
:09/2011-> Ch:8K,8T —
8K0407509A 8K0407694T
|
AU-16607 AU-14587 0
3 Suspension Control Arm and Ball Joint Stabilizer Link
Assembly L
Front
Front Left Lower Rear
Ch:8K.8T 8K0411317B .
8K0407693T ’.

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

46

info@parsrot.com



Rot sy

mw Land AUDI
Q5 2008-2016
|
AU-14626 AU-12632
- Stabilizer Link Tie Rod End
R 0 Front Front Left J
'f@ L=170mm  M16X1,5 ’ =
4G0411317C 4G0423811A
|
AU-14596 AU-12631
Stabilizer Link Tie Rod End
Front Front Right
L=170mm M16X1,5
8K0411317E 4G0423812A
AU-20655 AU-20657
Control Arm Bushing Control Arm Bushing
Lower Center Upper
4E0407181B 8D0407515B
2017 after
|
AU-16173 AU-16175
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
; 4 “ Assembly Assembly L
T— Front Left Upper Rear Front Left Upper Front ©
4M0407509B 4M0407505B
AU-16174 AU-16172
‘ Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint ‘
Assembly Assembly
Vo Front Right Upper Front Front Right Upper Rear \;E' :
f 4M0407506B 4M0407510B a
AU-19736 AU-19737
Lateral Arm Lateral Arm

Rear Right Lower Rear

Rear Left Lower Rear

4MO0505292D  4M0505291D
—— ——
AU-12731 AU-12732
Tie Rod End Tie Rod End L~
- ‘ FrontRight  Front Left \
— 8W0423812 80423811

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land AUDI
2017 after
|
AU-19724 AU-19725
Lateral Arm Lateral Arm
Rear Right Rear Left
4M0501530N 4M0501529N
|
AU-13723
Axial Joint
Front
4M0423810C
2006-2015
AU-19704 AU-19707
Lateral Arm Lateral Arm
Rear Right Rear Lower
(ALM)  71.8501529A
7L0505398
AU-19705 VW-13213
Lateral Arm Axial Joint
Rear Left Front
(ALM) M16x1,5Rht-L=287,5mm
7L0505397 7L0422821
VW-23211213  VW-23212213
Steering Tie Rod Assembly Steering Tie Rod Assembly
Front Right Front Left
7L0422804C 7L0422803C
VW-12211 AU-16148
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Right
M16x1,5Rht Front Right Lower
7L0422818D  7P0407152E
AU-16149 AU-16708
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint é
Assembly Assembly =
Front Left Lower Front Right Lower ‘ ‘-‘".5

7P0407151E

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

7L8407152E

parsrot.com

info@parsrot.com



Rot m==

== Land AUDI
Q7 2006-2015
AU-16709 VW-16210
® Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
=3 Assembly Assembly
(o‘ y ‘ Front Left Lower Front Upper
7L8407151E  AlUm-
95534102701
VW-14214 AU-201102

Stabilizer Link

Control Arm Bushing

Front Front Lower Outer
L=197mm  7pp407152E
7L0411317
|
AU-20432 AU-20316
Control Arm Bushing Control Arm Bushing
Front Upper Center
7L0407077 7L0412333A
|
AU-20286 AU-20285
4 Control Arm Bushing Control Arm Bushing
Rear Lower
95534124204 95534158810
|
AU-16169 AU-16168
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
7L0407151K 7L0407152K
| |
AU-20859
Control Arm Bushing
Front Outer
7L8501529A
4M 2017 after
AU-16173 AU-16176
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
= Assembly Assembly

Front Left Upper Rear
4M0407509B

Front Right Lower Front
4M0407152H

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land AUDI
Q7 4M 2017 after
AU-16177 AU-16172
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint ‘
& . Assembly Assembly
R e S Front Left Lower Front Front Right Upper Rear ﬁ"‘
4M0407151H 4M0407510B o
AU-16174 AU-16175
_‘ Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly L
P Front Right Upper Front Front Left Upper Front ©
.
’ 4M0407506B 4M0407505B
|
AU-12721 AU-12722
Tie Rod End Tie Rod End
‘ Front Right Front Left ‘
© 4M0423812B 4M0423811B - (=]
|
AU-11744 AU-14726
- Ball Joint Stabilizer Link 9
Front Lower Front Front N
4M0407689C 4M0411317E @
|
AU-14727 AU-13723
Stabilizer Link Axial Joint
: - o Rear Front — A
. 4MO0505465D  4M0423810C
| |
AU-19725 AU-19724
Lateral Arm Lateral Arm
Rear Left Rear Right
4M0501529N 4M0501530N
AU-19737 AU-19736
Lateral Arm Lateral Arm

Rear Left Lower Rear

4M0505291D

Rear Right Lower Rear
4M0505292D

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Suspension Ball Joint Kit

Front Right Lower

Suspension Ball Joint Kit

Front Left Lower

Rof
== Land AUDI
Q7 4M 2017 after
|
AU-14626
- Stabilizer Link
N @ Front
© L=170mm
4G0411317C
TT 8J3 2006-2014
AU-13833 VW-14557
Axial Joint Stabilizer Link
Front Inner Front
M16x1.5/L=226 L=335mm
4H0422810A 1K0411315J
AU-11644K AU-11645K

Balljointwithkit Balljointwithkit
8J0407366 8J0407365
AU-12641 AU-12642
Tie Rod End Tie Rod End
Front Right Front Left
M16x1.5 M16x1.5
8J0423812 8J0423811
AU-11644 AU-11645
Ball Joint Ball Joint

Front Right Lower

Front Left Lower

8J0407366 8J0407365
.|
VW-19225 VW-19583
Lateral Arm Lateral Arm
Rear Left Front Rear Left Front
1T0505223F 1K0505223K
.|
VW-19587 VW-19582
Lateral Arm Lateral Arm
Rear Upper Rear Right Front N
5Q0505323D 1K0505224K

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 51 info@parsrot.com



Rot sy

= [and AUDI
TT 8J3 2006-2014
|
VW-19224 SK-19457
Lateral Arm Lateral Arm
Rear Right Front Rear Lower \
1T0505224F  -=298mm
1K0501529J
|
AU-19558 VW-19228
Lateral Arm Lateral Arm
Rear Upper Rear Lower ,
1K0505323N 1K0505311AB
|
AU-20487 AU-20488
Control Arm Bushing Control Arm Bushing
Center Right
5Q0407182 1K0199232H

8N3, ROADSTER, 8N9

1999-2006

AU-19498 AU-11495
Lateral Arm Ball Joint
ﬁﬁﬁ Rear Front Lower
1J0505323H 8N0407365C
SE-19108 AU-14586
Lateral Arm Stabilizer Link
M Rear Right Lower Rear
L=298mm L=175mm
1K0501530C 1J0505466B
— AU-14500  AU-14499
Stabilizer Link Stabilizer Link
-._* Front Right Front Left
4Motion L=336mm 4Motion L=336mm
1J0411316D 1J0411315D
— SE-19109 AU-19558
Lateral Arm Lateral Arm
H Rear Left Lower Rear Upper
L=298mm  1K0505323N
1K0501529F

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

11|

parsrot.com

52

info@parsrot.com



ﬂo{”
= Land AUDI
TT 8N3, ROADSTER, 8N9 1999-2006

AU-23591593
Steering Tie Rod Assembly
Front Right

8N0422804C

|
L

AU-23591594
Steering Tie Rod Assembly
Front Right

8N0422804D

AU-23592593

Steering Tie Rod Assembly

AU-23592594

Steering Tie Rod Assembly

F__a_ Front Left Front Left
8N0422803C 8N0422803D
AU-12591 AU-12592
Tie Rod End Tie Rod End
Front Right Front Left
M16x1.5 M16x1.5
8N0422812A 8N0422811A
AU-16598 AU-16599
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
8N0407152D

Front Left Lower

8N0407151D

AU-16598N

Suspension Control Arm

Front Right Lower

AU-16599N

Suspension Control Arm

Front Left Lower

8N0407152A 8N0407151A

AU-18552 AU-13593

— Suspension Control Arm Repair Kit Axial Joint
Rear Front
SE-108-SE-109/A-5582AD/V-5582AD M16x1.5-L=330mm

8N0422807A

AU-13594 AU-20762

Axial Joint Control Arm Bushing
—————— Front Front Outer

8N0422804D 8N0407181B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

rNIT

parsrot.com

53

info@parsrot.com



Rot sy

= Land AUDI
T 8N3, ROADSTER, 8N9 1999-2006
. |

AU-20761

Control Arm Bushing

Front Right Lower Inner

8N0407182A
L FV3 2014 after
I
AU-13783 VW-14557
Axial Joint Stabilizer Link
‘_ = Front Front
8504238108 L=335mm
1K0411315J
I

VW-14580 AU-12691
Stabilizer Link Tie Rod End
Rear Front Right

L=70mm  850423812A
5Q0505465A

AU-12692 AU-11645

Tie Rod End Ball Joint

)
Front Left Front Left Lower

8S0423811A 8J0407365

AU-11644 AU-20487

Ball Joint Control Arm Bushing
Front Right Lower Center
8J0407366 5Q0407182

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 54 info@parsrot.com






